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* laj (5 points) Suppose a small hot-air balloon (of volume mass density p) is released into the
atmosphere. Write the (exact) differential equation that describes the motion of the balloon.
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8 points) At what height will the balloan be in equilibrium?
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® 1d] {10 points)  Suppose dy & rather small compared to . Show that the Halloos will oscillain
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* Ia) {3 points)  Given the cheerved dita, what is the valie of 57 %" I'JJ?' (?')

e | 3ec
Voot sty e /
'E‘f: &3 I 967 i €4 jlueC
E_ =z L:

2 — L2 B
5 = g _ps Jw -1 & R g
- ,i (NTY - “k ) L r:“‘\

What is thﬂnhu:r [mwh:ﬁ&ﬁqum rur tha syEtern i..g.] in terms of tie observed

e



» %) (10 points) Recall that the amplitude of » driven wass-spring system is given by:
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W‘h-ththnmmthandng?

\|".

W l«-lll_-.
SL Lo e
(2LY

;r'_J




	1
	2
	3
	4
	5
	6
	7

